= % 3x%y3 - 2x%y? O] )I-E B Zrobel

]
@ x © xy

© 2x+ 3y @ -2x+3y
@ xy(-2x+3y) @ xy* (3x-2y)

S ES
S ES

S EE



2(x—1)% = 8x(x— 1) + 12 & {157} o d Z-27?

@ x-1

® x+2

@ x-2

® x-3






(2a - b)?* = (2a + b)?




ok Ao] SHAAFHY W, 44 a o] g Fotolet.

(x+2)(x+4)(x+5)(x+7)+a




CHHA) aPx—a? - x+1 2 QS EADE W, ofef BAolA 1 147}
=]
=

27]
@ x¥+1 O x-1 © a+1
® x-2 @ a-1
® 9,0, 0 @ ©,06 ® O, 06,0

ONCNG) ® 6,66



44y +4xy-9EF ¥

7.

stofet,

:[L

3o
U=



8. a= 3+ V2 b= V3- VZ YU, a2 +529] B Tateler

5 R
=%



9. a+b=2,a-b*=10 2 W, a-b o] FE 3t

aa':a—b:



10. 2Wo] 7tzet A2 242 x4y, 2x + 1 9 AW A o] Hajrt
2x3 + 2x%y + Tx? + Txy + 3x + 3y °|t}. FSHA 9] gt B A9
4ol& stofzt.

5 L
=%



